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Al 84,177
- 84,176
307 2I2+01 A 168,353 0 168,353
Al 84,177
- 84,176
10 Al =S XA EEER2IHIE X 168,353 0 168,353
OFAEMESIHESY (AMYI)
168,353,000& 168,353
Al 84,177
- 84,176
HAAMESIHEH Y StuSEAEXIREAEH 29X 68,170 0 68,170
405 RHaHE S| 68,170 68,170
01 ML ZSEFHSHI 68,170 68,170
OFLEAMLSIHEH RS2t 4,500
—olTH 4T 230,0002+ 102+ 2,300
—3|o|ZEt 400,000 24 800
—3|o|ZE Rt 200,000 *24 400
3|9 22 &0kt 100,000& x 102+ 1,000
O FAG=XHEHAIRA 20,990
—CISARRI121(PC) 1,170,000 *7CH 8,190
—LESAFH 1,250,000 *1CH 1,250
—HM(HEE) 450,000 %72 3,150
— ot 230,000& *72t 1,610
—Z M MIED] 750,000+ 1CH 750
-1V 790,000 +1CH 790
—QIHYNSD| 300,000 *7CH 2,100
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2A:

HE: Fad 85 9 54
el Adset A =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OstuHEAEX M NSA 8,850
—32IEE A 200,000& %154 3,000
—322ZEHZ0[2 At 100,000& »202¢ 2,000
—CHISAFRI1D1(PC) 1,170,000& *1CH 1,170
— Iy 450,000 12} 450
-2k 230,0002 %12t 230
—&XHE 2,000,000 *1CH 2,000
YA HH(SXHE2D) 80,220 122,484 N42,264
el 2| 58,189 107,553 A\49,364
el 24| 58,189 107,553 A\49,364
101 @124H| 58,189 107,553 A\49,364
01 &2 58,189 51,4% 6,693
OARRIeIRR4Y
11,3192 ¥ 152 +30A| 2H+ 123+ 1. 02+80%<E 2>
58,189
Jl=23H| 22,031 14,931 7,100
JI23Hl 22,031 14,931 7,100
201 fer=3y| 12,444 10,893 1,551
01 AtR2tc|HI 12,444 10,893 1,551
ogsragH| 7,59
LR =T
10,040,000 +75%<& &> 7,530
O=gl 2,612
—SANSSYR=ISAHI
8,000 * 17 +x24 2 x80%<E 2> 2,612
Oogxz 2,302
—&A=EAD|ERE
99,0002 «1CH= 122 1,188
—d2dJ)&8R=
59,900 x1CH+ 12 719
—SIIE IS RE
32,9003~ 10 =122 3%
202 04l 2,687 1,970 mnr
01 2LHoIH 2,687 1,970 7
O=AEHGRFA0L
97,4003 x4 +3U #23| +80U<E 2> 1,871
ORNEgE =N
20,0003 x 17 +32 +xB0U<E &> 816
203 =4l 6,900 2,068 4,832
01 D22 HARFA| 3,300 0 3,300
Ol 22IdRFaH|(SX2=F)
3,300,000& 3,300
04 A2 LRFAI 3,600 2,068 1,532
ORNEgE =AY 300,000& 12 3,600
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